Geometry Worksheet
Congruent Triangles #3

Complete the proofs.

1. Given: EEEB, EEE,
and B is the midpoint of ED

Prove: AAEB = ACBD

2. Given: 4B L BE, DE 1 BE, AC = DC,

and <BAC = <EDC

Prove: AABC = ADEC

Name:
A C
E D
B
A D
B E
C

(over)



Given: GK = ML, <GKM = <LMK
Prove: AGKM = ALMK

statements

Given: <S =<R and XT bisects <SXR
Prove: ASXT = ARXT

statements

Given: FT = FR and ST = SR
Prove: AFTS = AFRS

statements

M L
reasons
S
T
R
reasons

reasons




Given: H is the midpoint of MK and QD

Prove: AQMH = ADKH H
Q
statements . reasons
S

Given: SO bisects <PSR and <P = <R

Prove: ASQP = ASQR P
Q
statements . reasons
Given: RT bisects <QRS,<1z=<2 Q
Prove: ARTQ = ARTS R @’T
statements . S reasons

(over)



A

9. Given: ﬁ’J_A_S,EES_P

Prove: AATP = ASTP

P
statements . reasons
B

10. Given: BR and EV bisect each other A

Prove: ABAE = ARAV

\Y% R

statements . reasons




11. Given: <2=<3,<1z=<4 3
4
Prove: AABC = ACDA L
A D
statements . reasons
A

12. Given: <D and <B are right angles, AD = CB

Prove: AABC = ACDA

statements . reasons




Geometry Worksheet Name:
Congruent Triangles #3

Complete the proofs.

A C
1. Given: EE@, EEC_D,
and B is the midpoint of ED
E it H D
Prove: AAEB = ACBD B
(Hint: Draw the information on the picture as you know it.)
statements . reasons
L. EE@, 'A_BE@, 1. 8\\,6"\
and B is the midpoint of ED
2. T = DB 2 wige culy Ta Wl
3. AAEB = ACBD 3. }L,a SN
A D
2. Given: 4B L BE, DE L BE, AC = DC,
and <BAC = <EDC
Bt ("N —E
Prove: AABC = ADEC 6
statements . reasons
l. AB L BE, DE 1 BE, AC = DC, L awen
and <BAC = <EDC %
2. <B and <E are right angles 2 ACW&W
g g ?ﬂ.meﬂ-«
o
3. <B=<E 3.\t 40
4, AABC = ADEC 4. L N}KS
(over)

10trig Page 2



3 Given: GK = ML, <GKM = <LMK
Prove: AGKM = ALMK ,
M ! L
statements reasons
l. GK = ML, <GKM = <LMK I: uven
2. MK = MK 2. shared
3. AGKM = ALMK 3. ﬁ)j SAS
S F\
4, Given: <S = <R and XT bisects <SXR T £
Prove: ASXT = ARXT L/
R
statements reasons
1. <S=<Rand XT bisects <SXR I oiver

]

F =

. <S8XT =<RXT

. MTE X7

ASXT = ARXT

2 \gected W\a\e/
Shartd Side
* Eéj AKS

("]

5t Given: FT = FR and ST = SR
Prove: AFTS = AFRS M
statements reasons )
|. FT = FR and ST = SR I g\\/ey\,
2 FSe S 2 chared
3. AETS S AERS
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M

6. Given: H is the midpoint of MK and @
Prove: AQMH = ADKH H
Q
statements reasons
L Wis Midgowk of MK 4d GO I. Given
2. MH = KH and OH = DH 2. Lisecked sidles
3. <MHQ = <KHD 3. owos{k 0“3\‘5
4 AMHE-2 A LKD 4 J%J SAS
S
7. Given: SO bisects <PSR and <P = <R
Prove: ASQP = ASQR pee
statements reagms
1. SO bisects <PSR and <P = <R 1. 9'\\)@ ~
2. 298 =4 RSQ 2. Definition of bisect
3 Se=S6 3. ghared
4. ASQP = ASQR 4. )@3 AAS
8 Given: RT bisects <QRS, <1 =<2 Q
Prove: ARTQ = ARTS R @T‘
statements S reasons
I. RT bisects <QRS, <1=<2 1. 8 we n

. <QRT = <SRT
RT = RT

. ARTQ = ARTS
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5 /@(Seu"f/ &,\(jlc

3. shared

Ay BES
el

=

(over)



S A S
9, Given: TP L AS, AP = SP
Prove: AATP = ASTP
statements reI::sons
1. TP L AS, AP = SP 1. 6\\)@?\
2. <ATP and <STP are right angles 2. pe< N;c&w
3. LS T<A 3. \coscels APSP  wivh AP =SP

4. AATP = ASTP 4 J% AAS
B E
10.  Given: BR and EV bisect each other A
Prove: ABAE = ARAV
% R

statements reasons
. BR od BV £§&2¢+ cach ote, 1. Given
2. BA=RA and A = 74 2. Defniton o bisect
3. <BAE = <RAV 3. Dpyoside 4\3!@5

4. ABAE = ARAV
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11. Given: <2=<3,<l =<4
Prove: AABC = ACDA

statements

B c
L7

reasons

l. =<3, <l=<4

2. AC=AC
3. ANRCZ A CDA

L. 9‘\\}ew
2. Chared

= Ay A Sk

A ®

L
12.  Given: <D and <B are right angles. AD = CB i
Prove: AABC = ACDA
D C
statements reasons
1. <D and <B are right angles, AD = CB 1. 9’\\/0/;«,
2. AL=AC 2. shared
3. AR= oo 3. swee Pythag Thowill fnd fhe stme
4. AABC = ACDA 4. )l,:\ SN
<hH= {B = 90 %i\lbr
A =Ac Shaed \ﬁa polenue
AD = eC “Bi\l?m

~NARC 2 AODH
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